

AN APPLICATION OF THE DISTRIBUTION SERIES FOR CERTAIN ANALYTIC FUNCTION CLASSES

Serkan Çakmak, Sibel Yalçın, Şahsene Altınkaya

Abstract. For the generalized distribution with the Pascal model defined by

$$P(\mathcal{X} = j) = \binom{j + t - 1}{t - 1} p^j (1 - p)^t \quad j \in \{0, 1, 2, 3, \dots\},$$

let $\mathcal{UP}(\lambda, \alpha, \mu)$ and $\mathcal{HP}(\lambda, \alpha)$ represent the analytic function classes in the open unit disk $\mathcal{D} = \{z : z \in \mathbb{C} \text{ and } |z| < 1\}$. The main aim of this paper is to derive the sufficient conditions for functions in these classes.

1 Introduction and motivation

The elementary distributions such as the Poisson, the Binomial, the Pascal, the Logarithmic arise the most well-utilized discrete distributions in various fields of science. For example, a firm footing of the usage of the elementary distributions was first used in Geometric Function Theory by Porwal [8]. Since then the distributions have received attention in the Geometric Function Theory (see [1, 2, 5, 6]).

Let us consider a non-negative discrete random variable \mathcal{X} with a Pascal probability generating function

$$P(\mathcal{X} = j) = \binom{j + t - 1}{t - 1} p^j (1 - p)^t, \quad j \in \{0, 1, 2, 3, \dots\},$$

where p, t are called the parameters.

Let \mathcal{A} represent the class of functions f of the form

$$f(z) = z + \sum_{j=2}^{\infty} a_j z^j, \tag{1.1}$$

which are analytic in the open unit disk \mathcal{D} and let also \mathcal{S} be the subclass of \mathcal{A} consisting of functions which are univalent in \mathcal{D} .

2020 Mathematics Subject Classification: 30C45; 30C80

Keywords: analytic functions; univalent functions; Pascal distribution

<http://www.utgjiu.ro/math/sma>

Now, we recall a very concise overview of well-known definitions.

Definition 1. (See [3]) A function $f \in \mathcal{A}$ is said to be in the class $\mathcal{UP}(\lambda, \alpha, \mu)$ if it satisfies the following condition

$$\Re \left(\frac{z\psi'(z)}{\psi(z)} \right) > \mu \quad (0 \leq \alpha \leq \lambda \leq 1, 0 \leq \mu < 1, z \in \mathcal{D}),$$

and

$$\psi(z) = \lambda \alpha z^2 f''(z) + (\lambda - \alpha) z f'(z) + (1 - \lambda + \alpha) f(z).$$

The function class $\mathcal{UP}(\lambda, \alpha, \mu)$ is of notable interest and it comprises many common classes of univalent functions (see [9]). Further we get

$$U(0, 0, \mu) = T^*(\mu) \quad \text{and} \quad U(1, 0, \mu) = C(\mu).$$

Definition 2. (See [7]) A function $f \in \mathcal{A}$ is said to be in the class $\mathcal{HP}(\lambda, \alpha)$ if it satisfies the following condition

$$\Re \left\{ \frac{z f'(z)}{f(z)} + \frac{\lambda z^2 f''(z)}{f(z)} \right\} > \alpha \quad (0 \leq \alpha < 1, z \in \mathcal{D})$$

for some $\lambda (\lambda \geq 0)$ and $\frac{f(z)}{z} \neq 0$.

The aim of this paper is to investigate the Pascal distribution for the analytic function classes $\mathcal{UP}(\lambda, \alpha, \mu)$ and $\mathcal{HP}(\lambda, \alpha)$.

2 Method of estimation

We recall here the following proved lemmas.

Lemma 3. (See [3]) A function $f \in \mathcal{A}$ given by (1.1) is in the class $\mathcal{UP}(\lambda, \alpha, \mu)$ if

$$\sum_{j=2}^{\infty} (j - \mu) [(j - 1)(j\lambda\alpha + \lambda - \alpha) + 1] |a_j| \leq 1 - \mu. \quad (2.1)$$

Lemma 4. (See [4]) Let $f \in \mathcal{A}$ be of the form (1.1), then $f \in \mathcal{HP}(\lambda, \alpha)$, if

$$\sum_{j=2}^{\infty} [(j - 1)(1 + j\lambda) + (1 - \alpha)] |a_j| \leq 1 - \alpha. \quad (2.2)$$

Now, based upon the Pascal distribution, consider the following power series:

$$\mathcal{K}(t, p, z) = z + \sum_{j=2}^{\infty} \binom{j+t-2}{t-1} p^{j-1} (1-p)^t z^j \quad (t \geq 1, 0 \leq p < 1, z \in \mathcal{D}). \quad (2.3)$$

By ratio test we conclude that the radius of convergence of the above power series is infinity.

By considering above definitions and lemmas, we have the following sufficient conditions for the function \mathcal{K} .

Theorem 5. *A sufficient condition for the function \mathcal{K} given by (2.3) to be in the class $\mathcal{UP}(\lambda, \alpha, \mu)$ is*

$$\begin{aligned} & \frac{\lambda \alpha t(t+1)(t+2)p^3}{(1-p)^3} + \frac{(\lambda - \alpha + 5\lambda\alpha - \mu\lambda\alpha)t(t+1)p^2}{(1-p)^2} \quad (2.4) \\ & + \frac{(4\lambda\alpha + 2\lambda - 2\mu\lambda\alpha - \mu\lambda + \mu\alpha - 2\alpha + 1)tp}{1-p} \\ & + (\mu\alpha - \mu\lambda + 1) - (\mu\alpha - \mu\lambda + 1)(1-p)^t \\ & \leq 1 - \alpha, \quad (0 \leq p < 1). \end{aligned}$$

Theorem 6. *A sufficient condition for the function \mathcal{K} given by (2.3) to be in the class $\mathcal{HP}(\lambda, \alpha)$ is*

$$\frac{\lambda t(t+1)p^2}{(1-p)^2} + \frac{(1+2\lambda)tp}{1-p} + (1-\alpha) - (1-\alpha)(1-p)^t \leq 1 - \alpha, \quad (0 \leq p < 1). \quad (2.5)$$

3 Proof of theorems

Proof of Theorem 5. According to Lemma 3, we must show that

$$\sum_{j=2}^{\infty} \binom{j+t-2}{t-1} (j-\mu) [(j-1)(j\lambda\alpha + \lambda - \alpha) + 1] p^{j-1} (1-p)^t \leq 1 - \mu.$$

Therefore, by combining the relation (2.3) and the implication (2.4), we have the equality

$$\begin{aligned}
& \sum_{j=2}^{\infty} \binom{j+t-2}{t-1} (j-\mu) [(j-1)(j\lambda\alpha + \lambda - \alpha) + 1] p^{j-1} (1-p)^t \\
&= \sum_{j=2}^{\infty} \binom{j+t-2}{t-1} [j^3\lambda\alpha + j^2(\lambda - \alpha - \lambda\alpha - \mu\lambda\alpha) \\
&\quad + j(\mu\lambda\alpha - \mu\lambda + \mu\alpha - \lambda + \alpha + 1) + \mu(\lambda - \alpha - 1)] p^{j-1} (1-p)^t \\
&= \lambda\alpha \sum_{j=2}^{\infty} \binom{j+t-2}{t-1} [(j-1)(j-2)(j-3) + 6(j-1)(j-2) + 7(j-1) + 1] p^{j-1} (1-p)^t \\
&\quad + (\lambda - \alpha - \lambda\alpha - \mu\lambda\alpha) \sum_{j=2}^{\infty} \binom{j+t-2}{t-1} [(j-1)(j-2) + 3(j-1) + 1] p^{j-1} (1-p)^t \\
&\quad + (\mu\lambda\alpha - \mu\lambda + \mu\alpha - \lambda + \alpha + 1) \sum_{j=2}^{\infty} \binom{j+t-2}{t-1} [(j-1) + 1] p^{j-1} (1-p)^t \\
&\quad + \mu(\lambda - \alpha - 1) \sum_{j=2}^{\infty} \binom{j+t-2}{t-1} p^{j-1} (1-p)^t \\
&= \lambda\alpha (1-p)^t \sum_{j=4}^{\infty} \binom{j+t-2}{t+2} t(t+1)(t+2) p^{j-4} p^3 \\
&\quad + 6\lambda\alpha (1-p)^t \sum_{j=3}^{\infty} \binom{j+t-2}{t+1} t(t+1) p^{j-3} p^2 \\
&\quad + 7\lambda\alpha (1-p)^t \sum_{j=2}^{\infty} \binom{j+t-2}{t} t p^{j-2} p + \lambda\alpha (1-p)^t \sum_{j=2}^{\infty} \binom{j+t-2}{t-1} p^{j-1} \\
&\quad + (\lambda - \alpha - \lambda\alpha - \mu\lambda\alpha) (1-p)^t \sum_{j=3}^{\infty} \binom{j+t-2}{t+1} t(t+1) p^{j-3} p^2 \\
&\quad + 3(\lambda - \alpha - \lambda\alpha - \mu\lambda\alpha) (1-p)^t \sum_{j=2}^{\infty} \binom{j+t-2}{t} t p^{j-2} p
\end{aligned}$$

$$\begin{aligned}
& + (\lambda - \alpha - \lambda\alpha - \mu\lambda\alpha) (1 - p)^t \sum_{j=2}^{\infty} \binom{j+t-2}{t-1} p^{j-1} \\
& + (\mu\lambda\alpha - \mu\lambda + \mu\alpha - \lambda + \alpha + 1) (1 - p)^t \sum_{j=2}^{\infty} \binom{j+t-2}{t} t p^{j-2} p \\
& + (\mu\lambda\alpha - \mu\lambda + \mu\alpha - \lambda + \alpha + 1) (1 - p)^t \sum_{j=2}^{\infty} \binom{j+t-2}{t-1} p^{j-1} \\
& + \mu (\lambda - \alpha - 1) \sum_{j=2}^{\infty} \binom{j+t-2}{t-1} p^{j-1} (1 - p)^t \\
= & \lambda\alpha t (t+1) (t+2) p^3 (1 - p)^t \sum_{j=0}^{\infty} \binom{j+t+2}{t+2} p^j \\
& + (\lambda - \alpha + 5\lambda\alpha - \mu\lambda\alpha) t (t+1) p^2 (1 - p)^t \sum_{j=0}^{\infty} \binom{j+t+1}{t+1} p^j \\
& + (4\lambda\alpha + 2\lambda - 2\mu\lambda\alpha - \mu\lambda + \mu\alpha - 2\alpha + 1) t p (1 - p)^t \sum_{j=0}^{\infty} \binom{j+t}{t} p^j \\
& + (1 + \mu\alpha - \mu\lambda) (1 - p)^t \sum_{j=0}^{\infty} \binom{j+t-1}{t-1} p^j - (1 + \mu\alpha - \mu\lambda) (1 - p)^t \\
= & \frac{\lambda\alpha t (t+1) (t+2) p^3}{(1 - p)^3} + \frac{(\lambda - \alpha + 5\lambda\alpha - \mu\lambda\alpha) t (t+1) p^2}{(1 - p)^2} \\
& + \frac{(4\lambda\alpha + 2\lambda - 2\mu\lambda\alpha - \mu\lambda + \mu\alpha - 2\alpha + 1) t p}{1 - p} \\
& + (\mu\alpha - \mu\lambda + 1) - (\mu\alpha - \mu\lambda + 1) (1 - p)^t \\
\leq & 1 - \alpha.
\end{aligned}$$

Thus the proof of Theorem 5 is now completed. \square

Proof of Theorem 6. To prove that $\mathcal{K} \in \mathcal{HP}(\lambda, \alpha)$, we must show that

$$\frac{\lambda t (t+1) p^2}{(1 - p)^2} + \frac{(1 + 2\lambda) t p}{1 - p} + (1 - \alpha) - (1 - \alpha) (1 - p)^t \leq 1 - \alpha.$$

From the relation (2.3) and the implication (2.5), we get

$$\begin{aligned}
& \sum_{j=2}^{\infty} \binom{j+t-2}{t-1} [(j-1)(1+j\lambda) + (1-\alpha)] p^{j-1} (1-p)^t \\
&= \sum_{j=2}^{\infty} \binom{j+t-2}{t-1} [(j-1)(j-2)\lambda + (j-1)(1+2\lambda) + (1-\alpha)] p^{j-1} (1-p)^t \\
&= \lambda(1-p)^t \sum_{j=2}^{\infty} \binom{j+t-2}{t-1} (j-1)(j-2) p^{j-1} \\
&+ (1+2\lambda)(1-p)^t \sum_{j=2}^{\infty} \binom{j+t-2}{t-1} (j-1) p^{j-1} + (1-\alpha)(1-p)^t \sum_{j=2}^{\infty} \binom{j+t-2}{t-1} p^{j-1} \\
&= \lambda(1-p)^t \sum_{j=3}^{\infty} \binom{j+t-2}{t+1} t(t+1) p^{j-3} p^2 \\
&+ (1+2\lambda)(1-p)^t \sum_{j=2}^{\infty} \binom{j+t-2}{t} t p^{j-2} p + (1-\alpha)(1-p)^t \sum_{j=2}^{\infty} \binom{j+t-2}{t-1} p^{j-1} \\
&= \lambda t(t+1) p^2 (1-p)^t \sum_{j=0}^{\infty} \binom{j+t+1}{t+1} p^j + (1+2\lambda) t p (1-p)^t \sum_{j=0}^{\infty} \binom{j+t}{t} p^j \\
&+ (1-\alpha)(1-p)^t \sum_{j=0}^{\infty} \binom{j+t-1}{t-1} p^j - (1-\alpha)(1-p)^t \\
&= \frac{\lambda t(t+1) p^2}{(1-p)^2} + \frac{(1+2\lambda) t p}{1-p} + (1-\alpha) - (1-\alpha)(1-p)^t \leq 1-\alpha.
\end{aligned}$$

Thus, according to Lemma 4, we conclude that $\mathcal{K} \in \mathcal{HP}(\lambda, \alpha)$. \square

References

- [1] Ş. Altınkaya, S. Yalçın, *Poisson distribution series for certain subclasses of starlike functions with negative coefficients*, Annals of Oradea University Mathematics Fascicula 2, **24** (2) (2017), 5-8. [MR3931277](#). [Zbl 1399.30027](#).
- [2] S. M. El-Deeb, T. Bulboaca, J. Dziok, *Pascal distribution series connected with certain subclasses of univalent functions*, Kyungpook Math. J., **59** (2019), 301-314. [MR3987710](#).
- [3] M. Kamali, E. Kadioglu, *On a new subclass of certain starlike functions with negative coefficients*, Atti Sem. Mat. Fis. Univ. Modena, **48** (2000), 31-44. [MR1767409](#). [Zbl 0963.30009](#).

- [4] A. Y. Lashin, *On a certain subclass of starlike functions with negative coefficients*, J. Inequal. Pure Appl. Math., **10** (2) (2009), 1-8. [MR2511933](#). [Zbl 1165.30323](#).
- [5] G. Murugusundaramoorthy, K. Vijaya, S. Porwal, *Some inclusion results of certain subclass of analytic functions associated with Poisson distribution series*, Hacettepe Journal of Mathematics and Statistics, **45** (4) (2016), 1101-1107. [MR3585439](#). [Zbl 1359.30022](#).
- [6] W. Nazeer, Q. Mehmood, S. M. Kang, A. U. Haq, *An application of Binomial distribution series on certain analytic functions*, Journal of Computational Analysis and Applications, **26** (1) (2019), 11-17. [MR3889613](#).
- [7] M. Obradovic, S. B. Joshi, *On certain classes of strongly starlike functions*, Taiwanese J. Math., **2** (3) (1998), 297-302. [MR1641159](#). [Zbl 0917.30012](#).
- [8] S. Porwal, *An application of a Poisson distribution series on certain analytic functions*, J. Complex Anal., **2014** (2014), 1-3. [MR3173344](#). [Zbl 1310.30017](#).
- [9] H. M. Srivastava, S. Owa, S. K. Chatterjea, *A note on certain classes of starlike functions*, Rend. Sem. Mat. Univ Padova, **77** (1987), 115-124. [MR0904614](#). [Zbl 0596.30018](#).

Serkan Çakmak
Bursa Uludag University
Department of Mathematics,
16059, Bursa, Turkey.
e-mail: serkan.cakmak64@gmail.com

Sibel Yalçın
Bursa Uludag University
Department of Mathematics,
16059, Bursa, Turkey.
e-mail: syalcin@uludag.edu.tr

Şahsene Altınkaya
Bursa Uludag University
Department of Mathematics,
16059, Bursa, Turkey.
e-mail: sahsenealtinkaya@gmail.com

License

This work is licensed under a [Creative Commons Attribution 4.0 International License](#). 

Surveys in Mathematics and its Applications **15** (2020), 225 – 231
<http://www.utgjiu.ro/math/sma>